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1. The standard root locus equation is of the form 



.
2. The characteristic polynomial of a system is (s) = s^3+5s^2 +(6+K)s + K. What is the correct root locus equation to use? 



.

3. To construct the root locus of 1+K(s+1)/{s(s+2)(s+3)}, we start by finding the open loop zeros which are 

 and open loop poles which are 


, and mark the zeros with 

 and the poles with 

.

4. For the problem in 3, which segments of the real axis are part of the root locus? 









5. For the problem in 3, what is the number of asymptotes: 

, what are the angles of the asymptotes? 


 Where do the asymptotes meet on the real axis?



























